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LCM and HCF &,

Ques 1. Q
Six bells commencing tolling together toll at intervals of 2, 3, 6,48, Q seconds respectively.In
30 minutes how many times do they toll together?

Ans 1. L.C.Mof 2, 4,6,8,10and 12 is 120.
so, the bells will toll together after 120 seconds i.e. 2 min@

In 30 minutes the bells toll together 30/2 + 1 times i.e.@s.

Ques 2.
o

The H.C.F of two numbers is 11 and thgg M is 7700. If one of these numbers is 275, then find
the other number.

Ans 2. Product of two number s =&gduct of their H.C.F. and L.C.M. required number = 11 X
7700/275 = 308

Ques 3. &6

)
A gardener had ber of shrubs to plant in rows . At first he tried to plant 8, then 12 and then 16
in a row but h s had 3 shrubs left with him . On trying 7 shrubs he was left with none.Find the
total num@hrubs.

Ans 3..C% of 8,12,16 = 48 Now, 48 x 1 + 3 =51 - not divisible by 7 48 x 2 + 3 = 99 - not divisible
by 7 3 + 3 =147 - not divisible by 7 Required number = 147

Ques 4.

Three measuring rods are 64 ¢cm,80 cm and 96 cm in length . What is the least length of cloth that
can can be measured exact number of times using any one of these rods?

(@ 9.60m

(b) 8m

(c) 9.60cm

(d) 96 m
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Ques 5.

The sum of two numbers is 528 and their H.C.F is 33. What is the number of pairs of such numbers
?

(@) 4

(b) 12

(c) 8

(d) 6 Ans5.4

Hint : Let the number be 33x and 33y where x and y are co-prime.

Ques 6. O

The largest numbers which divides 30, 78 and 102 to leave the same remainder in@ case is
(a) 24

(b) 20

(c) 8

& o
(d) 16 00
Ans 6. 24 \?
Ques 7. Q

Find the least number of five digits which is exactly&Viife by 12, 15 and 18.
(&) 1080

(b) 10080
(c) 10025 ° &
(d) 11080

Ans 7.10080

Hint : The least number of 5 digjig i 000. L.C.M. of 12, 15 and 18 is 180 . On dividing 10000
is 100.

=> 10000 + 180- 100 = 10(@ divisible by 180.

Ques 8. i

34 respegivam™™

(a) 1984
(b)
(c) 4

(d) 1496

Ans8.1394
Hint: Note that 20 -4 = 6; 25 -19 = 6;35-29= 6;40- 34 =

The smalleit;um r which when divided by 20, 25, 35 and 40 leaves a remainder of 14, 19,29 and
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6 Required number = L.C.M. of ( 20, 25, 35 and 40)-6

Ques 9.

Find the greatest unit of time with which 5 hours 15 minutes and 8 hours 24 minutes can both be
represented as integers.

(@ 70 min.

(b) 63 min.

(c) 48 min.

(d) 42 min.

Ans 9. 63 min.

O

The L.C.M of two numbers is 14 times their H.C.F . The sum of the L.C.I\/I.Qm&e.H.C.F .15 600. If

Ques 10.

one number is 280 , then the other number is

(@) 40 0
(b) 60

(© 80 NQ

(d) 100 o&

Ans 10. 80

Average .

Ques |.The average weight of 45 passen oard an aircraft is 50 kg. If the weight of 5
members of the crew is added, the ave xreduced by half kilogram . What is the average weight
of the crew members?

Ans 1. Total weight of 45 passe
weight of 45 passenger and 5
Total weight of 5 crews = 24 /5-
of 5 crews = 225/5 = 45|ad.

= 45 x 50 = 2250 kg Total
w9 = 50 x 49.5 = 2475 kg
0 = 225kg Average weight

Ques 2.A ma Rs 1,800 per month on an average for the first four mouths and Rs 2,000
per month for{e nest 8 months and saves Rs 5,600 a year. What is his average monthly income ?
Ans 2. Tgia enditure during first four months = 1,800 x 4 = Rs

7,200, Tqtal expenditure during the next 8 months = 2,000 x 8 = Rs

16 ving = Rs 5,600

Total Of expenditure and saving (equal to income the year) = 7,200+ 16,000 + 5,600=Rs

28,800 Average monthly income = 28,800 /12 = Rs 2,400

Ques 3.The average of 5 numbers is 9 and the average of the last three numbers is 5.Find the
average of the first two numbers.
Ans 3.Sum of 5 numbers =9 x5 =45
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Sum of last three numbers = 15
The average of 1st two numbers = 45-15/2 = 30/2 = 15.

Ques 4.A certain company employed 600 men and 400 women and the average wage was 2.55
per hour.lIf a women got 50 paise less than a man, what were their wages per hour ?

(a) Man rs 3.00,Woman Rs 2.50

(b) Man Rs 3.50, Woman Rs 3.00

(c) Man Rs 2.75, Woman Rs 2.25

(d) Man Rs 3.25, Woman Rs 2.75

Hint ¢ L& @ mans v\')a}a f’ext\ow\,&_x, O
mm&wa%ﬁmh“’v'-*";_ @)

L) ¢
. etyo(n-z) 4.9
/__/————- -

o
| o0

Ans 4. Man = Rs 2.75, woman = Rs 2.25 v

Ques 5.A man wnt uphill with a speed of 20 km.p.h. a Qdownhill with a speed of 30 km p.h.
The average speed for his journey was

(@ 25km. p.h.

(b) 22 1/2 km. p.h.

(©) 24 km. p.h. o &
N

(d) 25 1/2 km. p.h.
Ans 5. 24 km.p.h.
2x4
‘ ) kM' homy. - -f-

Ques 6.A shipga ut to a mark at the rate of 10 km per hour and sails back at th rate of 15 km
per hour. Wha&\is ItS average rate of sailing?

(@) 10 .

(b) 12km.®.h
(C)ém

(d) km. p.h.

. p.h.
Ans 6. 12 km. p.h.

www.recruitmenthunt.com Page 4



200 Important Quantitative Aptitude Questions

Ques 7.0ne third of a certain jaurney was covered at a rate of 25 km per hour, one fourth at the rate
of 30 km per hour and the rest at the rate of 50 km per hour. The average speed for the whole
journey is

(a) 33 1/3 km/hr

(b) 66 1/3 km/hr

(c) 36 1/6 km/hr

33—‘5 km’hr.

Hin® AWT Speed - O
“l'oH-Q djsmntb Crw .
"ol bme token M

(d) 63 1/3 km/hr Ans 7. v’\f

Ques 8.Monica's average expenses for 4 days is Rs 6.0. ent Rs 7.70 on first day, Rs 6.30 on
second day. If she spent 10 on third day , How much dje#$sh®spend on the 4th day?

(@ Rs2

(b) Rs3

(c) Rs4

(d) Rs0Ans 8.Rs0 ¢
Hint : Required Amount =24 - (7.70 + %10)

Ques 9.The average age o Q is 20 years. If C were to replace A, the average would be 19
and id C were to replace @, verage would be 21 . The ages of A, B and C are (in years)
(@ 22,17,16

(b) 22, 18,20 o
(c) 30,18, 15
(d) 23,17 1% ANN9. 22,18, 20 Hint: A+ B=2x20C +B=2x 19

A+C:@

Q@The average age of a board of 8 trustless remains the same as it was 3 years ago, when
one of them is replaced by a new member. The new member is younger than the truetee in whose

place he has been replaced by
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(a) 24 years
(b)26
years (C)
47 years
(d) 32
years

Ans 10. 24 years ]
Equations

Ques 1.

ICLza, =3\ fmlmvmu})(énz C)O

& ¢
Ans 1. Q
Cliven, edppussion = 237 0
(-2 v
numbergkor 6nd domoinaton ha? &

¥
(1
U gy et 22 Oy
-2 =
Gfiuum. expasssion = c(—) T /
¢
Ques 2.What number should be subtraoted@a'ch of the numbers 18,24,28,38, so that the

remainders may be in proportion ?
Ans 2. Let the number be x.

2N hyom* O ,
8- nirgubad @ TTe
OL 180-10*. =m &
o

Oh. M* m* 12- x- 2

Ques 3.Thg ayerage age of three girls is 24 years.IF their ages are in the ratio of 5 : 6 : 7.find the
age of th est girl.
Ans 3.°\et the respective ages of the three girls be 5%, 6x and 7x
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o Bt tTe =24x3 =72 et

i 182 =712

oh n =4 20 anw

oo :5"«"5)([4;
R T B yomget F

Ques 4.X,Y and Z share a sum of money in the ratio of 11 : 13 : 16 . If Z receives Rs 25 more than
X, then Find the total money shared.
Ans 4. Let the respective shares of X, Y and Z be Rs 11x, 13x and 16x respectively

Torad wwmot Z 1\l #13% +lex = U0% OO

Now. b -\w =25

&o
- fy 200. »

2. Tl morey Shorsd
y

Ques 5.The speeds of three cars are in the ratio o@ find the ratio of the time taken by them
to travel the same distance.
Ans 5. As distance is constant, time is invey, portion to speed.
[ ]
I

! L
A o L1 5 g e 5

Ques 6.An Kto&!tain copper and nickel in the ratio of 3 : 7. Find the amount ( in kg) of

copper requireg td\be®nelted with 28 kg of nickel to from the alloy.

Ans 6.
it {02
wuay\t a Nfd(et
2%k =)
gt o iy T
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Ques 7.The ratio of income of A to that of B is 7 : 5 and the expenditure of A to that of B is 3 :2 . If,
at the end of the year,each saves Rs. 500, find the income of A.

Ans 7. Let the income of A and B be 7x and 5x Let the expenditure of A and B be 3y and 2y 7x - 3y
= Rs 500 ...(i) and 5x - 2y = Rs 500 ...(ii)

Multiplying equation (i) and (ii) by 2 and 3 respectively and subtracting , we ge x = 500 « income of A
=7 X 500 = Rs 3500.

Ques 8.Rs 200 contained in a box consists of one rupee,50 paise and 25 paise coins in the ratio of
3:4; 5 Find the number and value of 50 paise coins.

LS O
=R Y
3y-n O
 vae of 5o fase O7% = DTS
12S. Q&'

Ans 8. Value of 1 Re coins : Value of 50 paise coins : Value Qf age coins

‘v

\!

o

"N, 350 foise (ofns

Ques 9.40% of a man's daily output is equal to 60% of a@d man's daily output. If the first man
turns out 1440 toys everyday,the second man's output/ 5 of number of toys is
(@ 960
(b) 1000
c) 840
© .

(d) 900
Ans 9. (a) 960 \

Ques 10.24 liters of a mixture gontgi® milk and water in the ratio of 1 : 5. If 6 liters of the mixture are
replaced by 6 liters of milk, r of milk to water in the new mixture will be

@ 3:5

(b) 3:4 &
(c) 5:6 o
(d)2:3A§. .

Xy
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Time and Work

Ques 1.

Randhir is 1 1/2 times faster than sudhir . If Randhir can complete a piece of work in 20 Days ,
how long will it take for both Randhir and Sudhir to complete the same piece of wrok ?

Ans 1. A

Ques 2.A can do a job in 24 days ,B in 9 days and C in 12 days. B and C togetheigal he
work but leave after 3 days . How much time was taken by A to complete thaining

work ?

S.
by AT
5 ‘,‘ He wok Jb do b@ &
Ans 2 v
Ques 3.Ram is thrice as good a workman as nd is therefore able to finish a piece of

X3
L :
Quid time= gy dop = 22247

work in 60 days less t?&yind the time in which they can do it, working together? Ans 3.
o

Ques 4. &

If half o@astering of awall is done on the first day by a group of workers and one-

fourth remaining on the second day, find the area of the wall , given that the work gets
fin’@fter plastering remaining 45 m2 of the wall .

A
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Henee, (e ﬂ Hoe wad ds |20m2

Ques 5.

9 men and 12 boys finish ajob in 12 days. 12 men and 12 boys finish it in 10 0 how
many days will 10 men and 10 boys finish the job ?

(@) 8days & °
(b) 10 days

(c) 12 days Q

(d) None of these 0

l +12B KIQ
. =1l -v2M+i2b = L.
Uink = AM + 126 12 T

Here M and B give the one  day's work of % boy respectively.
Ans 5. (c) 12 days PY &

Ques 6.A piece of work which I finished in 9 days was finished 3 days earlier after 10
more men joined .The numbef Of (N employed was

o 2 <

(b) 20

(c) 22

d) 24 ¢
Ans 6. (b) 2Q

Hint : 9@ +10)
<

If A,B and C together can finish a piece of work in 4 Days , A alone in 12 days and B in 18
Days, then C alone can do it in

(a) 21 days

(b) 15 days

(c) 12 days
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(d) 9 days Ans 7.
(d) 9 days

Ques 8.

A can do half of a piece of work in one day whereas B can do full , B can do half the work as
C in one day. Ratio of their efficiencies is

@4:2:1

(b)y2:4:1

(c)2:1:4

(d)1:2:4Ans8.1:2:4

Hint : Ratio of their efficiencies = Ratio of the amount of work they do in one d@

QO
Ques 9. &.

If 5 men or 9 boys can do a piece of work in 15 days then 10 boys can finish the
same work in

(@) 4 1/2 v
(b) 9 days

(c) 18 days \»

(d) 36 @

days Ans
9.
L u C,ort
' CO0 'sél«
1 -
im: 1 A
sx 1

4b.« on ‘: ) 1
Ques 10. @
n

Some persons ca a piece of work in 12 Days . Two times the number of these
persons will If &f that work in
(a) 3 days
L
(c)
( days
10. (a) 3 days

1™ Qje ti
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Partnership

Ques 1.

Ramu started a business with Rs 2100 and was joined by
Sham with Rs 3600 afterwards . After how many months did
Sham join , If the profits at the end of the year are shared
equally ?

Ans 1.Suppose Sham joined after X months . Then sham's
money remained for ( 12 - x ) months.

v, 2\ %12 =36m (12%) ke _s
95260 D% XEoree O
o, o = U302 R )

o
So, Sham joined after 5 months . Q&

Ques 2.

A,B and C enter into partnership by making investments in the@: 5: 7. After ayear, C
invests another Rs 337600 while A withdraws Rs 45600 . T@of investments then
changes to 24 : 59 : 167 . How much does A invest initiall

N

(5x—‘19‘°°) St ?(1“ 3376w) < 24:54° 161

= Y7200
B S0, Bp T 2O

%A __&@12@%5)= Ry 141 60

¥ T

[mitial inobmol
Ans 2. Let initial investment @xvand 7x rupees.

Ques 3.
P and Qinvestin a b&ss in the ratio 3: 2. If 5% of the total profit goes to charity and P's
share is Rs 91$tho otal profit Ans 3. Let the total profit be P.

4

—

s
§ . ot Bt - PTe =730

¢ 207 *

eQ '
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Ques 4.

P and Q start a business with initial investments in the ratio of 13:8 . Their corresponding
annual profits are in the ratio of 7:5 . If P invested his money for 7 months, find the time
period for which Q invested his money.

1 . L
e ® s
=) 8n =65

- y 4 n\oﬂw

i O inustd g o O

Ans4. Suppose Q invested money for a period of x months. O

Ques 5. Q

P and Q entered into partnership with capitals in the ratio of 4 :Qer 3 months , P
withdrew 1/4th of the capital and Q withdrew 1/5th of the c@ e profit at the end of the
year was trs 60000. Find the share of P in the profit . &

Ans 5. Let the capitals of P and Q be 4x and 5x respe

fee A rs «* @
sH)itud

Ques 6. K&

= 39:6)
_ . 265

poisd et 8 o

=3 66000
o oL *
:| f«S S“ q

A and B put in Rs 300 and R¢40 ?e;spectively into a business . A reinvests into the business
his share of the first year'g pr of Rs 210 whereas B does not .In what should they divide

the second year's pro(&
(@ 39:40

o
(b) 40: 39 $
(c) 3:4
Ans 6.4a) 3%:40
Hipt. share of first year's profit
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Ques 7.
A and B entered into partnership , investing Rs 3000 and Rs 2000 respectively . A was the
sleeping partner . At the end of one month, both got Rs 150 each. What was B's remuneration

for his work ?
(a) Rs 60

(b) Rs 50
(c) Rs 40
(d) Rs 30

Ans 7.Rs 50
Hint: Let John's capital be Rs x.

@,

Ques 8.

The ratio of investments of two partners Pand Qis 7 : 5 and
If P invested the money for months , Find for how muchHW\
(@) 7 months \»
(b) 10 months

(c) 9 months

(d) 11 months Ans 8 10 months

10 of their profits is 7 : 10.
Q invest the money.

Series is an important chapter for go exams. In every exam you will find at least 5
questions from this chapter. Today I aring 10 questions that are repeated in the exams.

@O
$ . Series

1oy . »
(

(c) 35
(d) 25
Ans 1. The difference between the numbers is reduced by half at each step.
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8 4 -2 1 0.5
Ques 2.

2,6,12,20,30,42 ?

(a) 50

(b) 52 O
@ 58 O

&0
i

*2 *4 »6 -10
Ans 2. The difference between the numbers in this sene@eased by 2 at each step.

Ques 3. @

3,5,9, 15, 25, 41,67, ?
(a) 108 &
(b) 52
(c) 110
(d) 111

Ans 3. The difference bet e number in this series is the sum of two previous

differences . &
°
, 15 25 41 67 108

L JL I LI |

*6 +10  w*m16 ¢ 26 +42
(2+4) (4+6) (6+10)(10+ 16) (16 +26)

Q .
1,6, 15, ? 45,66, 91
(&) 25
(b) 26
(c) 27
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(d) 28
Ans 4. The difference between the number in this series
is increased by 4 at each step .

1 6 15 28 45 66 s|a1
#5439 #13  +17 +21 +25
Ques 5.
12.512.27.58.121, ?
(@) 246 O

(b) 247 o

(c) 248 &.

(d) 249

Ans 5. The sequence in this series is number into 2 plus th@%rs in natural order

starting. from 0. v

(1x2) *0 (2x 2) *1 (5x 2) *2 (12x 3) ¢ 3 (27 x2) ¢ 4 (58 x 2) *5 (121@

Ques 6.

4,9, 16,25,36, ? ' &
(a) 47 \'
(b) 48

(c) 49

(@) 63 ZQ
Ans 6. The nuges $€ series are squares of numbers in natural order starting from 2.

Ques 7.&
3,8,14, ? 48,63

(a
(b)
(c) 35
(d) 36
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Ans 7. The numbers in this series are the squares of numbers in natural order minus 1
starting from 2.

3 8 15 24 35_4863
11 i 1l

22-1 32-1 42-152-1 62-1 72-182-1

Ques 8. O
9,16,30,58, ?
(@) 104 @)

(b) 114

() 116 \'
(d) 118 0

9 16 30 58 1 Q
L] I

+7 +1 +28 15
Ans 8. The difference between the nuﬂz&% oubled at each step.

Ques 9. o

514,41,86,7?

(a) 149 @
(b) 123 R

(c) 157 $

(d) 131

Ans 9. '@erence between the numbers is the multiple of 9 with odd numbers .

<

Page 18
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5 14 41 86 149
I [ | | -

5+(9x1) 14+9x3)41+(9x5)86+(9x7)

Ques 10.

2,11,7,16,12, ? 17,26

(a 21 O
(b) 8 O

(c) 11

(d) 76 K‘
Ans 10. The sequence in the series is +9, -4 which is repe 0’0

One of the number in the series is wrong, find the Wrongw rinthe series :-

Ques 11. @Q

36,43,49,54,60,61,63,64

(a) ¢ . &
oy N
3

(c) ! g !
Ans 11. The difference be 0 consecutive number is decreasing by 1

atcepch: step. Nd

36 43 49 54 58 61 6;] 64
| 1 || | | || |

+7 +6 +5 +4 +3 +2 +1

¢ 58 should be in place of 60.

Ques 12.
3,10,41,206,1236,8660

(a) 10
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(b) 41

(c) 206

(d) 1236

Ans 12.The sequence followed in this series is :
3x3+1=1010x4+1=4141x5+1=206 206 x
6 +1 =1237; and ¢°* 1237 shuold be in place of
1236.

Ques 13.

12,20,38,42, 56,72 O
(a 20 ‘ )
38

(b)

(c) 56 &'
(d) 72 Q
Ans 13. The sequence followed in this series is : 0
Xx4=12

x5=20 @

X 6 =30

X7=42

X 8 =56 @
8 x9=63

ee¢ 30 should be in place of 38. o &

Ques 14.
5040,840,160,42,14,7 ‘ )
(@ 7

(b) 160 &6

N o 0o~ W

(c) 14 o

(d) 840

Ans 14.The & in the series are divided by numbers in reverse order starting from 6 to
ﬂ get thenextnumber.

5040 840 168 42 14 7
L]l
-4 -

L1l 11 |
- )

"6 5 3
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*e¢ 168 should be in place of 32.

Ques 15.

81,64,49,35,25,16

(a) 64

(b) 35

(c) 35

(d) 16

Ans 15. The sequence is the square of the number in decreasing order starting from 9_f.e

92=9x9=81

8.=8x8=6472=7 o
X7=4962=6x6=
6452=5x5=2542 O
=4 x4=16 + 36
should be in place

&
a4

Ques 16.

625,125,25,5,0
® 1 <

(b) 125
(c) 5

d) 625 . A&

625 125 25 5 1
1 | | |
< ~J B

=

~ 1 should be in place of 0 digit.
Ans 16. Then in the series are divided by 5to getthe next number.

&L

Qugs
25,19,17,13,11 ,7
(a) 25

(b) 17

(c) 13

(d) 7
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Ans 17. Other numbers are prime numbers.

Ques 18.

3,10,27,4,16,64,5,25,125

(@ 25

(b) 16

(c) 10

(d)3

Ans 18. The sequence of the series is formed by a number ,its square , its cube, then tife t
number is natural order , i.e.,

= O
32 =3x3=9 O
33 =3x3x3=27

next number :
41 =4

&0
42 =4x4=16 00
43 =4x4x4=64 v

next number :
51 =5
52 =5x5=25 0
53 =5x5x5=125 @

eee 9 should be in place of 10 .
.é

Ques 19.
13,39,195,1363,12285
(@ 13

(b) 1363
o 2 v
(d) 195 &?o

Ans 19. In this series umbers are multiplied by odd numbers in natural order numbers in

A e

13 39 195 1365 12285

»—

X 3 x5 X7 X 0

~ 1365 should be in place of 1363

natural order starting from 3, i .e.

Page 22
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Ques 20.

2,3, 6,18,108,1942
(@ 6

(b) 18

(C) 1942

(d) 3

2 3 6 18 108 1944

& o
&
>

3x6

6x18

18x 108

~ 1944 should be in place Of 1942. <,
Ans 20. The numbers in the series areth@uct of two numbers preceding it, i.e.

Ques 21.

5,15,30,135, 405, 1215, 3645

(a) 3645 o
© s <

(c) 405 &

A There
, (40 =1215).,(1215x 3 =3645),..and soon .

(d) 1215 °
(e) 30
Ans 21. EacEe f the series is obtained by multiplying the previous term by 3.

" Hence , alternative (e) consists of the wrong term.

Ques 22.
2, 3,6,10, 18, 27,54

e particular orderis 5, (5x3=15),(15x3=45),(45x3=135), (135x3=405)
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(@) 6

(b) 18

Ans 22. In the given sequence second term is 1.5 the first , the third term is 2 times the second
and so on, Therefore , alternative (a) consists of the wrong term.

Ques 23.
3,4,8,17,33,49,94
(@ 17
(b) 8
(c) 4
(d) 33

() 49 Q
Ans 23. In the given sequence difference between successive terms is in the ord , 32.
Therefore 58 should replace 49 to from the series .

A Hence alternative (e) consists of the wrong term.

Ques 24.

&’
36,49,100,144,196,256,324 Q
() 256 0&
(b) 36 @

(c) 49

(d) 144

(e) 100

Ans 24. Terms of the series would be 628

O 182 if 49 is replaced 64 .

" Therefore , alternative (c) consists

Ques 25.

508,250,124,60,28,12,4 @o
(a) 28

(b) 124 &

(c) 60 g

d) 12

(e) 250

Ans 25, s replaced by 252, then difference successive terms of the series will be in the order
of$, , 32,16,8 respectively which from a particular order .

AT fore , alternative (e) consists of the wrong term.

Ques 26.

2,3,5,8,15,21,34,55
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(@ 5

(b) 8

(c) 3

(d) 2

1
(d)15

Ans 26. If 15 is replaced by 13 then a particular order of terms in the series will be formed in which
sum of two successive terms is equal to the next term.

~ Therefore , alternative (e) consists of the wrong term.

Ques 27. O
2,5,10,18,26,37,50

@ @)
(b) 18 o
(c) 5 &
(d) 50 Q

(e) 2

Ans 27. If 18 is replaced by 17 then terms of the series will b
32+1..72+1.

" Therefore , alternative(b) consists of the wrong term. 0

Ques 28.
1,4,7,11,16,22,29

(@) 4 ‘N\,

in the order of 12+ 1,22+ 1,

(b) 11
(c) 22
(d) 29

(e) 1 o

Ans 28. If first term of th @ is replaced by 2 then difference between successive terms of the
series will be in the orde&(z, 4.5.6,7.

A Therefore e@ve‘(e) consists of the wrong term.
Ques 2 $

4.6 ,34,59,95

(

(b) 6
(c) 18
(d) 95
(e) 9
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Ans 29. If 6 is replaced by 5 then difference between successive terms will be in the order of 1, 4,
9, 16,25, 36.

N Therefore , alternative (b) contain the wrong term.

Ques
30.

54,43

(a) 26

(b) 18

(c)43

(d) 22

(e) 3
4 Ans
30.0n
the

34,26,22,19,18

If 26 is replaced by 27 , then difference between successive terms Of@gas will be
orderof 11,9, 7,5,3,1.

X
S
Compound Intel%Q

Ques 1. @Q

If Inflation increases at arate of 8 p.c.p.aW Rs.20 article cost at the end of two
years ?

(a) between Rs,20 and Rs.21 °

(b) between Rs.21 and Rs.22 »\

(c) between Rs.22 and Rs.23

(d) between Rs.23 and Rs.24 gns ™(d) Required sum =

& 20(1 + 8 }zzzoxz?xz?
$ o 100 25X 25

Ques

Wh @invested for 2 years at 12% compounded annually will glow to Rs.4390.407?
a 4000

(b) Rs.3500

(c) Rs.3800

(d) Rs.3875

Ans 2.

=23.3
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p(1+ —2=-Amount => (14 —=}2-4390.40
100 100

Spramna i
Ques 3.

What sum of money will become Rs.1352 in 2 years at 4 percent per annul compound interest ?
(&) Rs.1200

(b) Rs.1225

(c) Rs.1250

(d) Rs.1300

Ans 3.

OO

&

What sum lent at 5%per annul compound interest will a Rs. 441 in 2 years?

(a) Rs. 390
(b) Rs. 395 @
(c) Rs.400
(d) Rs.405 . \&,
- Sa2 -
-p{1+ )2 =441 4

= p=441x2x 2 _400
21 21

Ans 4. xv
K
Ques 5.
The princijgal t amount to Rs.4913 in 3 years at per annul compound interest compounded
annually |
(@) 6
(b) Rs.4085

(c) Rs.4076
(d) Rs.3096
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Ans 5.

=y{1+—1}=4913
"~ 400’

16 16 16
0 4913 X— X— X—=4096
17 17 17

Ques 6.
If the total amount interest earned after 2 years at the rate of 12%per annual is Rs.228.9 the
principal amount is

(8 1,200
(b) 1,100 OO
(c) 1,000

(d) 900 1\& °

12
100

Ans 6. Let P be the principal 0"
Ques 7. @Q

If a sum of Rs.1000 deposited at compound integfs ubleafteer 4 years .After 20 years, it will
become

(@) Rs.20,000 ¢ K,
(b) Rs 24,000 \

(c) Rs.28,000
(d) Rs.32,000 Ans
7.=(d) O

Ques 8.

o

If Raja paid total nt of Rs.324.48 after 2 years with compound interest at 4% per annul,then
the principal a taken by Raja must be

=p{1+-—-)* -P=228.96=>  P=Rs.900
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200 Important Quantitative Aptitude Questions
Ques 9.
What is the time in which Rs 2000 will amount to Rs. 2420 at 10% per annum compound interest?

N
o
]
i
AL
5\;
\./S
\
~
b
»
Q

Ques 10.

What sum will become Rs. 6,690 after three years and Rs. 10,035 after six &;bn compound

interest ? ,Q«
PCH )-5490 amd PH--K =|oo3f Q

Now dividing the second equation by the first equatl

get :
0 03% :
e \3 ""To /2 &
Ans 10.
Substituting this value of (14 3 in the first equation we get : 3p/2 = 6,690 *** Required sum =

Rs. 4,460. &

Ques 11.
The diffe
annu

etween the compound interest and the simple interest on a certain sum at 5% per
years is Rs. 1.50. Find the sum.
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b A
5

]-SD X0 ’<|l\7= 60

a0 ﬁw'““w = 5%5

(1 -51=¢(£) @

Ques 12.
Compound interest on a certain sum for 2 years at 10% p.a . is Rs 420. What would be the simple
interest at the same rate and for the same time.

_— \+%1-J={X%X<”%J O
[(+5) O

Yo X|goX 10 2000
- f» °

210

or P=
: . g x)0X2 o Yov.
o Sl Tt = BTSSR

.. S

Ques 13.

A sum of money placed at compound interest doubl@ Tin 4 years . In how many years will it
amount to eight times itself ?

Ans 13.

« X¥'
p(!mgn\\“l" °"("va0} .

12
== ((I-r'—%_yjs: Z’ :g f.g (l-&-‘:e—o) = 2

Hence , the sum will Qe émres itself in 12 years .
[ Note: The sum ist % in 4 years ; itwillbe 8 (i.e. 23)times in 4 x 3years i.e. 12 years |

Ques 14. $

Find goae\'™st number of complete years in which a sum of money put at 25% p.a. compound
interest will be more than double itself .
Ans 14,
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n
5
Y \}(]1—5_)"‘ rf Oh(," i
0
0 g el S S A2
g XX o S xy XURY 25

Yoxyx™

=> the least possible value of n is 4.

Hence, the least number of years required is 4.
Ques 15.

Divide Rs. 3903 between A and B , so That when compound annually A's share at the end of 7
years may be equal to B's share at the end of 9 years . The rate of interest is given to bgag% per

annum.
: O
A's Sha %L'*i‘in)} . Bsshwut % (H‘%"S O

3 [ )
o shar =B8° shar X |+r“°l') &
= A'S Shas —_‘6/12(5 < y
' shavt  ~ \ >
o H'SBZI\AM— - 676 % 3903 - fs.2028 &< >¢

Geres g3 = R 1875 Q

Ans 15. . 07
éa

Ques 16.
How much more would Rs. 20,000 §ftc fter two years , if it is put at 20 % p.a. . Compound

interest payable half yearly than@ ut at 20% p.a. compound interest payable yearly ?
(&) Rs. 482

(b) Rs. 424 &6

(c) Rs. 842
(d) Rs.b512 L
Ans 16. $
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Ro U2
Lt @ Rawirtd aman

= zooo(('*"T%')"_(H %ﬂ

Ques 17.

A sum in invested at compound interest payable annually . The interest in two
successive years is Rs. 225 and Rs. 236.25. Th rate of interest is

@) 4%

(b) 5%

© O

(d) 8% O

Ans 17.5% & [

Ques 18. QQ(

Population of a city is 198000. It increased by 7% in the Ist yearwe sed by 5% in the Il nd year.

What is the population of the city in third year.

() 218900

(b) 201267 Q
(c) 201860 @

(d) 212453
Ans 18. A

Ques 19. &

What will be the diffgre\ice®n annual simple and compound interests at the rate of 12%p.a on the sum
Rs. 960 after 2 y orhpounded annually? (Very important)

(@) Rs.13.82

(b) Rs. 20

(c) Rs._2A04

d) &G

Ans 19.
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al(,o x12x2
i

Z“ﬂwvw‘ JJ{‘PWW’ G1% > ' 11 2304

%o ‘mv jzjoh U0 X 725

24
- 2yy.224 — 230U = g 133
Ques 20.
If rate of interest is 4% compounded quarterly. What will be the amount if a man invests Rs. 2000 for 1
year ?
(8) Rs. 2060

(b) Rs.2081.21
(¢) Rs. 2100.25

(d) Rs.2125.54 O
Ans 20. O

Z2.0TO 11T |ooj ™

N\
Q

Ques 21.
A bank offers 5% interest compounded half yearly. A custor@posns Rs. 1600 each on 1st January
and 1st July of a year . At the end of the year , the amou Id have gained by the

way of interest is :

(@ Rs.123

(b) Rs, 122 (C) &

Rs. 121 (d) Rs.

120

5 HAoo(-’* ‘B
Torol Amowk = 160 "leﬁ“ -

164D
1w x EL + 1w Xf Ao
) (600
= fp 332

Ans 21. m
Hen u interest = 3321 - 3200 = Rs. 121

%
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Ques 22.

An amount increased by 60% in years at simple interest. What will be the compound interest of Rs.
12000 after 3 years at the same rate ?

(a) Rs. 6240

(b) Rs. 3972

(c) Rs. 3120

(d) Rs. 2160

Lk, P= Co 1m; o S = gs.Co

Sinee .y, = 60X 170 |D¢O fo.
Imx

Hme ,CI. = \ZWD[(.'*’J' 120
= I‘ﬁ
|2000 Joi0 < )
=f 5772
Ans 22. §

Ques 23.
If a sum of money is borrowed and returned in equal mstall@ Rs.882. Find the sum borrowed :

33l @)

\___.l

(Very important)
(@) Rs. 1700
(b) Rs. 1680
(c) Rs. 1640

(d) Rs.1620
A&

Qo = 5y B~ o3

29 x/ s 160
x5
(M"/ - 882 2\

= gL x20
21

Ans 23. v
o
Ques 24
In how many a sum of money will be doubled if interest rate is 20% compounded annually.
(@) 6

i
(c)

(d) 3

Ans 24,

2l

Page 34
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hou 1[5 71 >(/5 ”

He)nce ifn = u :
So, n =4 years
Ques 25.

Nominal rate of compound interest is 6%per annum paid half yearly. Find effective rate of interest :
(a) Rs. 6.09%
(b) Rs. 6.08%

(c) Rs.6.07% O
(d) Rs. 6.06% O
Let, £~ fe. 1005 Hmt ’

3\ - \pox1.0609 * fa.1o¢ 0
%)

A- \DDL\*

Hence, C.1 =106 .09 - 100 = Rs. 6.09 So, required

effective rate = 6.09% p.a @

Ans 25. ' @Q
2\

Races Games
Quesl.
In a kilome.tre race, A beats metres or 6 seconds . Find the time taken by A to finish the
race. &

o

Ans 1. It is%;st at B runs 30 metres in 6 seconds . race =

200-=6 = 194 seconds = 3 minutes 14 seconds

Ques 2.
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In a 125 m Race , Aruns at 10 km/hour. A gives B a start of 5 metres and still beats him by
5 seconds . Find the speed of B.

12€
w T
s Tokon )aa A b Ainr 25 N Race onri

X —eh
B (ouws 125 -5 =l20m JUn Ys+S s

5 SMG& [4 -.%96,% km,h.ou» =&Y km/ww_

Ans 2.

Ques 3.

In a kilometre race, if A gives B 30 m start, A wins by 20 seconds but if A gives B 30 s
start, B wins by 20 m. Find the speed of B. O

-3
low -3 nd —'T—— wﬂ?’o“" O

108 430 = v ;

I J——V
- a" a
(ﬁ—L.—u
ay|d ‘al: A

&.
O
o lgoy +do = 970N
e S
>

" 297 -t = YT m)s
T o241 o
Hence speed of B = 4.75 m/s.

Ans 3. Let the speed of A be x m/s and speed opg y Wi/s.

A cawhanBkdoveesr& Taar,i Vo B in 2 minutes, by what distance can A beat
Ans 4. A beats B by 40 sec.
A beats B by 20 metres .

Ques 5.lInal00mrace,Ab Qy 12mand Cby 15m, In arace of 176 m, Find by how much

distance would B beat C. hen A covers 100 m, B covers 88 m and C covers 85 m. i.e. when
B covers 88 m C covers .
o S % 16
88

B wo%at by 6 min arace of 176 m.
Ques 6.

ce of 600 m, A can beat B by 50 m and in a race of 500 m, B can beat C by 40 m by
how*many metres will A beat C in arace of 400 m?
Ans 6. When A covers 600 m , B covers 550 m.

Hot?
- - .. HL XWO0OD'“3*~
\Ohsfl £\ COUIM MffDvn COVUM ot
tfhtu e> GmiISW™ .c tolUAA N
3 3
* .
QS ooy - so*
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Ques 9.

Ram and shyam run at 4 km on a course 250 m round . If their rates be 5: 4 , how often
does the winner pass the other?

(a) Ram passes Shyam thrice

(b) Ram passes Shyam twice

(c) Ram passes Shyam once O
(d) Shyam passes Ram twice O
Ans 9. Ram passes Shyam thrice &.

Time Token b? barm to fos ghﬁ"m ’@S i
Tonl Himw Todan by S T
_ Yoo _.'.7:2

foro.of T Ko flses Shyarm = =5, = 7
Hint : Speed of Ram with respect to shyam= 5x - 4@ ﬁ]S -1

Ques 10.

P can run one kilometre in half a minu.t & iIme than Q. In a kilometre race, Q gets a start
of 100 m and still losses by 100 m. x time P and Q take to run a kilometre .

(@ 3 min,2min

(b) 312min, 2min
(c) 2min, 212 min Q
(d) 212,min, 4 min A&@

10. 2 min, 2 2 min

Hint : Let the %of" and Q be P m/s and g m/s respectively .

/\ 2. N
\
TP-|(10-'"
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Installments

Ques 1.

An electric iron is sold for Rs 110 cash or Rs 50 cash down payment followed by Rs 62 after
a month. Find the rate of interest charged under the installment plan.

Ans 1. Present worth of the amount to be paid in installment = Rs (110-50) = Rs 60 Let the
rate of interest be r% p.a.

After a month the worth of Rs 60 would be : Rs ( 60 + 20 xr /100 x 1/12)

But 60 +r/20=62r=(62-60) 20 =40 % p.a.

O

Ques 2.
A loan of Rs 2550 is to be paid back in two equal half - yearly installments . How n@is
each installment if the interest is compounded half - yearly at 8% p.a.? & °

] &

K .
er Joorth ‘& () d}‘-‘-s"(‘ WW“‘M‘z =(l'|5375

1(‘ W(l . X 2
due 12 mon =
Fusead 1t § B ) &
Lo * - 250
ATy o " xé‘,f.‘]:zm
251 zsr a0 O 3F
2 Q

- ﬁwﬂ 2% % = fa35a
SR e

Ans 2. Present worth of loan = Rs 2550.Le inStallment be Rs x.

M
Ques 3.

Kusum borrowed money and retu it in 3 equal quarterly installments of Rs.4630.50 each .
What sum had she borrowed if fhe yafe of interest was 20% p.a. compounded quarterly ? Find also

the total interest charged .
Ans 3. Using the conce sent worth we have :
Ye30SD Y630 O Yg30.SP
Bum borowed = ==+ o, F
(’*lm) Clntﬂ (w—,—

2 3
oo, Uo0) f(';"’).
=4e2-50 | Tos T(ogp T (05

—y430- 5D le;?[zﬁ:' +()_2jj]

26 - )
Total value of the three installment = Rs (4630.50 x 3) = Rs 13891.50 ¢ Total interest charged =
Rs(13891.50 - 12610) = 1281.50.

A

Ques 4.
A steel container is sold at Rs 120 cash or Rs 25 as cash down payment and Rs.25 a month for 4
months .The rate of interest per annum charged under the installment plan is .
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(8) 26.09%
(b) 24.09%

Ry

QO

& o
&
S
o
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(c) 20 %

(d) 23.25%

Ans 4. 26.09%

Hint : Present worth of the balance amount to be paid = Rs (120-25) = Rs 95

qg(\y(:—%>whbw R = Sl 70 F& Mﬂhjgll’:
: 4R
Ué.-,ﬁ Bu Formula - er‘?s(um)

=125 @w/“l) t @—?}j O

Worth of Rs 95 after 4 months = O
o

Ques 5. &
A sum of Rs 7500 is to be paid back in three equal annual installments4§o uch is

each installment if the interest is compounded annually at 4% p.a.?
(a) Rs. 1000.05

(b) Rs 981.65 &
(c) Rs 163.58

(d) Rs 2701 @

.61 Ans 5.

e
»

X 3
oy o) O

2701.61 Hint :

7500 = &@

yearly.
(@ Rs
(b 0

(c) RS 620

(d) Rs 660

Ans 6. RS

620

Hint : Sum borrowed
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Ques 7.

Sunder borrowed money and returned it in 3 equal quarterly installments of Rs. 17576 each .
What sum had he borrowed if the rate of interest was 16% p.a. compounded quarterly ?

(a) Rs 50000

(b) Rs 48786

(c) Rs 48775 o
(d) None of

these Ans 7. O

48775 &
&

g—%;a)‘ ("r mS ('#‘”5 &
Hint: Required sum = Q

Ques 8.
A loan of Rs 8400 is to be paid in two equal halffFwgafyinstallment the interest being chargedat
10% per annum compounded half - yearly . Jgn h installment approx ).

(8) Rs 4450 \
(b) Rs 4400
() Rs 4850

(d) Rs 4500 Q
Ans 8. 4500 &

‘$ o
4444

Ques 1.

It is 200 miles from Jaipur to Coimbatore . If a bus takes 2 hours to travel the first 75 miles.How
long must the train take to travel the final 125 miles in order to have an average of 50 miles per
hour for the entire trip ?

Boats and Streams
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(@) 60 minutes
(b) 94 minutes
(c) 120 minutes
(d) 110 minutes

Ques 2.

Vijay rows 3 km per hour in still water. if the river is running at 1 km per hour , it 45
takes him minutes to row to a place and back .How far is the place ?

(& 2km

(b) 15

(c) 1km

(d) 2.5km O
O

Ques 3. x.
Ram starts walking . He walked 2 km in the first hour . Then he walke hirds of the
distance of the previous hour in each next hour . If he walked contj uFMy then how long
could he walk maximum ? 0

(a) 60 km

(b) 7 km Q
(c) 12km &

(d) 8km @)Q

Ques 4.

Ravi leaves home for stadium which is 1 f his house .After the stadium, he goes to
his club which is 7 km from his staditem & hiFPhouse, stadium and club all fail in atime,
then what is the minimum distance h @o travel to get back home ?

(@) 19 km

(b) 7 km

(c) 5km Q
d) 12k
Quesls. ' @

| walk a certain distanc d ride back talking a total time of 37 minutes . i could walk both
ways in 55 minuges\ H8w long would it take me to ride both ways.?

(@) 9.5 minut
(b) 19 minuts
Ecg 18 g

d) 204nii™es
Ques

Sudhif cycles with a speed of 10 km/h and reaches his bank at 1 pm. however, when he
cycles with a speed of 15 km/h , he reaches his bank at 11 am. At what speed should he
cycle, so that he reaches his bank at 12 noon ?

(@ 12.5km/h

(b) 12 km/g\h

() 13 km/h

(d) 13.5km/h
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Ques 7.

A railway engine moves with the speed of 42 km/h. The reduction in speed varies as the
square root of the number of compartments attached to it. The speed is 24 km when 9
compartments are attached. What is the maximum number of compartments that the engine
can pull

(a) 47

(b) 48

(c) 49

(d) 42

Ques 8.
Three runners A ,B and C run arace , with runner A finishing 12 meters ahead of@u s B and 18
meters ahead of runners C, while runners B finishes 8 meters ahead of C. E ers travels
the entire distance at constant speed . What was the length of the race ? a@

(@) 36 meters

(b) 48 meters &
(c) 60 meters )00

d) 72 meters

Ques 9. @
C

If a man cycles at 10 km/hr, then he arrives at a certai place at 1 p.m .If he cycles at 15
km/hr, he will arrive at the same place at 11 a.am peed must he cycles to get there
at noon ? %

(@ 11 km/hr

(b)y 12 km/hr

() 13 km/hr ‘,\&

(d)y 14 km/hr

Ques 10.
Two boats, traveling at 5 and@t per hour, head directly towords each other . They begin
at a distance 20 km from gachy other. How far apart are they (in kms ) one minute before they
collide?

()5 (d) =

Page
43

LL,._‘
Q
S
=
ml"‘
—
(=3
S
@ |
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solutions:

Ans.1 (c)

Ans.2

(c) Suppose distance is x km "speed in
downstream = ( 3 + 1) km/hr = 4 km/hr ~speed in
upstream = ( 3 + 1) km/hr = 2 km/hr

According to question

N Time-taken by vijay for downstream + time-
taken for upstream =

g => x=1km. C)O

b |
_|_
L
Il
ml-&-‘-
[=R N

Ans.3

Required distance = 00
= 2{1+- + {|}* +{[}* +., Q&

=2X—-=2X3 = 6km.
1-a

. &
Ans .4

(d) House 5 km house 7 km stadiu \

Ans.5
(a) Time taken in walkj ertaln distance from x to y

27 N mlnu\$
Tim &n riding the same distance =
é/ -Z( -=Y-minutes
22

%= 12 km/h
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Ans.6

Let t h be the time taken by the sudhir to reach his bank at the speed of 15 km/hr Then , time taken
to reach the bank at the speed of 10 km/hr = (t + 2) h. Now.

S$1X10; =5 x 2

[

= 10 X(t +2)=15Xt
= 10t + 20 =15t
o 5t =20

Thus t = 4h

Distance covered to reach office=s; x t4

=10X (4 +2)] O
-10X6 C)
60km

speed required to reach the bank at 12 noon (i.e. in 5 h) = distance / tim& o

2= 12km/h 0
_Thus, speed @

Ans.7
Let r = reduction in speed and w = number of \I\@S
Given thatra/w
r=42-24=18;w'=9
Now let us find out how many wado M e required so that the train stops . For tht let's take
the speed as 0. &
For this to happen the reductioghaito be 42.

O 18 -=>w =49
@ 42

With 49 wagons t in will stop.
Thus we subtfyct @ne wagon so that the train will just move.
Hence thga ris 48.

Ans.

(hg et | be length in meters pf the race which A finishes in t
nds. speed of A = speed of B=

L—12
L E—
;m/s , t m/s,
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speed of C=

L—18
— m/s,

Time taken by B to finish the race =

L _( L
Ty (L—IZ)t seconds
In this time, C covers (L- 8 ) m, OO

(Ltlﬂ) = .r__'tlz)t = L8 = L=48m. °

X
Ans \QQ’Q
S

2 —yord = 10x.. (i)
10 v

; <

15
= x-2 ord = 15x-30... (ii) ° K,&
M

=>10x=15x-300r 5x =304 x hrs and d = 60 km

=> To reach at noo&@cles for 5 hrs

=> Thus, les at speed =

& =12 km/hrs

Ans.10
(c) Relatives velocity of the boats = 15 km/hour =
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Therefore, they cover 1/4 km in the last one minute before collision.

Data Sufficiency

Directions:

Each question given below is followed by two statements | and Il. choose a if the quest e
answered by using one of the statements alone, but cannot be answered by using t @
statement alone. 6

choose b if the question can be answered by using either statement alone.

Choose c If the question can be answered by using both statement togeth &annot be
answered by using either statement alone.

Choose d if the question cannot be answered even by using both th ent together.

Ques 1. What is the average of the best and the worst score@ﬂests taken by a student?
I. The average of all 8 tests is 84%.

[I. After dropping the best and the worst grade, the ay, remaining 6 tests is 86%.
Ans 1. By statement | average of all 8 tests is 84%. @

By statement Il average of 6 tests excluding the
Average of the best and the worst score =
Hence, both the statements are needed®o

d the worst scorers 86%.

the question.

Ques 2. What is the value of 18x+ 5 \
. x=2

. 9x+5=23

Ans 2. Both statements | a@@ independently answer the question as each of them gives the
value of X.

he school eat in the canteen.
boys of the school eat in the canteen.
Ans 3. Bo statement are not sufficient to answer the question as we do not know the ratio of

Ques 3. What fractign of.t e student body of a school eats in the canteen ?
|. Half of the gg@

The distance between city A and city B is 700 km.
II. The distance between city A and City C is 900 km.
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Ans 4. It is not possible to determine the distance between B and C as we do not know the
relative positions of A,B and C.

Ques 5. How many restaurants are there in Delhi?

I. You make 3 meals a day and every meal is in a restaurant you have not visited before.
II. It takes yo 3 years to cover all the restaurants in Delhi.

Ans 5. By statement |, restaurants covered in a day

=3 By statement Il, total restaurant

=3x365x3

Thus, both the statement are needed to answer the question.

Ques 6.What is the profit on an article ?

I. The cost price is Rs 368.35. O
II. There is 20% profit on the selling price. Q
Ans 6. By statement |, C.P. = Rs

368.35 By statement Il, profit= 20% of

e
S.P. 9
profit = Rs 20/80 x 368.35 It is thus clear that both statements | ar@ eeded to answer the

guestion.

Ques 7.In how many years from now, will the population of vi@oday has a become equal ?
I. Village A today has a population of 68000 and is decr a rate of 1200 per year.

II. Village B today has a population of 42000 and is i at a rate of 800 per year.
Ans 7. Let the required number of years be n. @

68000 + n(-1200)
=42000+ n(800) which gives the value of n.

Hence, both the statement | and Il are réqut answer the question.
Ques 8.What is the net effect on grogg reggipts?

I. Prices are reduced by 25 %

Il. Sales are increased by 20%

Ans 8. Let Rs x be the pric t and let y units be sold at this price.

Gross receipts = Rs
Xy &
K
= *, Sale (j gruke

| (30
gfef(-u/Te*Ai JE |

) I .
o> ¥ (kerwh "

2££NL~| *\&ic
L E 0<t10J

Hence, both the statements are required to answer the question.
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Ques 9.what is the value of 2P + Q ?

l. P/IQ=4/5

II. 6P +3Q =15

Ans 9. Statement |: The required value cannot be obtained.
Statement 1l: 6P +3Q =15=>3(2P+Q)=15=>2P+Q =
5.

Hence, statement Il alone answer the question.

Ques 10.What is the area of rectangle ABCD?

I. The diagonal of rectangle ABCD is 10 cm.

[I. Its perpendicular sides are 20 cm and 16 cm respectively.

Ans 10. Statement |: The area of rectangle ABCD dcannot be known as only the le l@he
diagonal is known. 6
Statement Il: Area of rectangle = 20 X 16 cm2
Hence, statement Il alone answer the question.

I. xis a Fraction between (1/4) and (1/2).
Il. Y is a fraction between (3/4) and (11/12).

Ans 11. 0
By 1~ 2, @
ghJOv/rit A~
WOUW fUus< U o \4
0o, M \U tfv itfliL° N

fioU'tA;

Ques 11.What is the maximum value possible for x/y? @

"ITTf \jaUu,

I - D
Hence, both the statement@@uired to answer this question.
l. x =63

o
ninteger?
. x=

Ans &2 \Either statement is sufficient to answer this question.

Ques 12.1s 1

Ques 13.Which of the four businessmen,from amongst Doorlight,Limona,Platt and Cameron

is the richest?
l. The average worth of all four is Rs 22 crore.

. Il. The net worth of each of Limona,Platt and Cameron is less than Rs 22 crore.
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Ans 13. By statement |, total worth of four businessmen = Rs 100 crore By statement I,
net worth of Limona, Platt and Cameron < Rs 66 crore From both the statement it can be
concluded that the net worth of Doorlight is > 34 crore. 34 crore is > 22 crore. Hence,
Doorlight is the richest.

(Both the statements together answer the question.)

Ques 14.1s a given Number N divisble by 2?

I. Nis divisible by 8.

II. Nis divisible by 4.

Ans 14. Either statement is sufficient to answer this question. O

C

\J o
&
>
o

‘»‘
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